MNepeyeHb OCHOBHbIX AEeTaJeN U Y3J10B MHOTOGYHKLMOHAALHOIO 3aTO4HOro cTaHka M3C-03

YT1BEpxaato
TexHnYecKmnn gUpeKTop

AHuceHnkos O.A.

2013r.

HayanbHMK TEXHUYECKOTO
otaena:

MeTtpoB B.T'.
MH)XeHep-KOHCTPYKTOP:

AkoBeHkoB U.K.

M. HanmeHoBaHue K. 18 | Onopa neBas 1
1 dneKkTpouwHyp L=2m; 2x0,75 | 1 19 | Koabuo npy>mHHoe 1
2 Ynop pe3snHOoBLIN 1 20 | NoawmnnHuk 626 Z 1
3 MpenoxpaHuTens 1 (6x19x6)

4 BbikntoyaTesnb B cbope 21 | Mnata wetkogepxatena | 1
4.1 | BbIKAKOYATENb 1 22 | MpyXnHa cneumnanbHas 2
4.2 | HaKOHEYHUK 2 23 | Wetka (4x5.5x11) 2
5 KpbiLlKa Kopnyca 1 24 | WetkoaepykaTenb 2
6 BuHT 3x10 camopes 2 25 | BUHT M3x6 2
7 MnaTa 1 26 | LLlanba ctonopHas 6 2
8 BuHT 3x18 camopes 2 27 | flkopb 1
9 Bbiksitouatesb B cbope 28 | MNOCTOSHHBIN MarHUT 1
9.1 | BbIKNKOYATESb 1 29 | NoAawunnHuk 626 Z 1
9.2 | HAKOHEYHUK 2 (6x19x6)

10 | BuHT 3x10 camopes 4 30 | Onopa npaBas 1
11 | MnacTMHa NpUKUMHas 2 31 | BMHT cneumanbHbIn 1
12 | Pbiyar BbikAtoYaTens 1 M10x13

13 | Mnatdpopma 1 32 | 3aTo4HOM Kpyr 1
14 | BuHT 3x14.5 camopes 4 33 | MNpoknaaka 1
15 | Ynop pe3nHoBbIN 1 34 | lamka M10x1 1
16 | Opoccenb 1

17 | BuHT M5x85 2




